Subtraction Crossword Puzzle
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ACROSS

1. 34 -8
2. 50 -4
3. 48 —10
5. 49 - 4
6. 31 — 19
7. 40 — 13
8. 48 — 11
9. 47 - 4
11. 26 — 6
12. 18 - 0
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DOWN

1. 24 -4
2. 50 -2
3. 4 -9
4. 39 -7
5. 47 -0
6. 46 — 29
7. 30 — 8
8. 41 — 8
9. 50 — 10
0. 43 — 15
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Answers

1
2161 T4]6
3 4
0 [3/8] 3
5 6
415 712
|
2171 13[7
9 10
21 7431 2
11 12
2700 18

ACROSS DOWN
1. 34 — 8§ 1. 24 — 4
2. 50 -4 2. 50 -2
3. 48 —10 3. 4 -9
5. 49 — 4 4. 39 — 7
6. 31 — 19 5. 47 -0
7. 40 — 13 6. 46 — 29
8. 48 — 11 7. 30 — 8
9. 47 — 4 8. 41 — 8
I. 26 — 6 9. 50 - 10
2. 18 -0 10. 43 — 15
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